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1. True/False/Uncertain: State whether you believe each of the following
statements is true, false or uncertain. Most importantly, justify your answer
using economic reasoning and {(when appropriate) diagrams. (&/NE104)

1. A fixed business licensee fee imposed on each monopoiistically competitive
firm will reduce the number of brands in the market and increase sach one's
market share.

2_1f a firm has a cost function given by C({Q) = 100 +Q?, then it is a natural
monopoly. o

3. Perfect price discrimination is impossible when al consumers have identical
tastes and preferences.

. 4. There is no deadweight loss associated with a posttive externality because
the socially optimal level of production is greater than that chosen by a free
market.

5. The marginal revenue product of a given quantity of labor will be higher if the
industry is competitive than if the same _industry'were conirolled by a
monopoly. ' ' :

II. Please answer the following questions:

1. As to (a) the basis, (b) the type and (c) the benefit of the international trading,
please compare the Ricardo model with the Heckscher-Ohlin model, and
explain their differences with a certain case. (FEH+43)

2. Let’s discuss the regional integration of international development.
(a) What are the major models for the regional integration?
(b) What are the centributions of the ASEAN to its member states so far?
() What are the contradictions between the member states of the ASEAN?
{d) What are the main pressures for a non-member country, such as Taiwan,
to sct up the trade and economic networks in the ASEAN? (AEH”-+43)

3. Piease explain the terms with your own comments:
(a) Dollarization;
(b) Capital flight;
{c) Real exchange rate;

(d) Real depreciation. (ji%i—f*ﬁ})
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1. Which of these is not a Mintzberg category of roles for managers?
A. Interpersonal role -
B. Informational role
C. Motivational role
D. Decisional role |

2. is the outcome of planning.
A. Performance
B. Strategy
C. Assessment
D. Effective organization

3. A reporting relationship in which an employee receives orders from, and reports
to, only one supervisor is known as:
A. line of authority.
B. centralization.
C. -unity of direction.
D. unity of command.

4. TInequity that exists when a person perceives' that his or her own outcome/input
ratio is greater than the ratio of a referent is known as:
A. underpayment inequity.
B. overpayment inequity.
C. negative perception inequity.
D. procedural inequity.

5. Tlfeory _1is based on positive assumptions about workers.
A Z
B. X
c Y
D C
6. The theory states that 2 manager's choice of organizational structures and

control systems depends on characteristics of the external environment.
A, mechanistic
B. management science
C. organic
D. contingency




B3 o oK S S R AR M dE 4 R
B ke (284 ()R +£n] A 4R B2

7. Which is not one of Fayol's principles:
A. Authority and responsibility
B. Line of authority
C. Globalization
D. Unity of command

8. Which is not a stage of an industry life cycle?
A. Growth
B. Seniority !
C. Shakeout
D. Birth

9. ‘ allows a foreign organization to take charge of manufacturing and
distributing a product in its country in return for a negotiated fee.
A. Franchising '
B. A joint venture
C. Licensing
D. A subsidiary

10. Which of the following is not usually an organizational stakeholder?
A_ Customers :
B. Suppliers
C. Employees
D. Government

11. The technique in which group members respond in writing to questions posed by
the group leader is known as the technique.
A, Delta
B. Beta
C. Delphi
D. Alpha

12. Performance gains that result when individuals coordinate their action is called:
A. coordinated strategy
B. focused diversification
C. synergy
D. entropy

3. strategy distinguishes an organization's products from its competitors
products in areas such as quality and design.
A. Low-cost '
B. Multidomestic
C. Differentiation
D. Diversification
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14. Which is not an integrating mechanism?
A. Liaison roles
B. Task forces
C. Cross-functional teams
D. Market structure

15. The structure is an organizational structure that simultaneously groups
people and resources by function and product.
A, market
B. geographic
C. matrix
D. product

16. Controlling is a féur-step process; which is not one of the steps?
A. Establishing performance standards
B. Measuring competitor's performance
C. Comparing actual performance against pErformance standards
D. Evaluating the results and taking corrective action

17. is the process managers engage in to develop a pool of qualified
candidates for open positions.
A Hiring
B. Recruitment
C. Retention
D. Selection

18. The need for provides an individual with a strong desire to perform
challenging tasks well and met personal standards of excellence.
A. achievement
B. affiliation
C. power
D. integration

19. Based on expectancy theory, is a perception about the extent to which
performance will result in the attainment of outcomes.
A, effort
expectancy
valence
instrumentality

U 0w

20. The authority a manager has by virtue of his or her positioﬁ in an organization is
referred to as power.
A legitimate
B. reward
C. coercive
D. expert
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21. Nonverbal communication includes the encoding of messages by means of:
A. body language
B. facial expressions
C. styles of dress
D. all of the above

22, In the inventory system, supplies arrive to the organization when they are
needed.
A. Just-in-case
B. TQM
C. Iust-in-time
D. Kaizen

23. Promoting from within

A. assures the absence of morale problems.
is generally less costly.
allows for the injection of new blood.
all of the above,

S oW

24. Maslow is probably best known for his theory on
A. levels of aspirations.
B. levels of achievements.
C. levels of needs.
D. ievels of directions.

25. Very little delegation of authority is associated with the function.
A. marketing
B. personnel
C. purchasing
D. accounting
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1. Which of the foliowing is NOT included in the decisions that every society must make?
a. what goods will be produced
b. what determines consumer preferences
¢, who will produce goods

d. who will consume the goods

2. When society requires that firms reduce pollution,
a. there is no tradeoff, since everyone benefits from reduced pollution.
b. there is no tradeoff for society as a whole, since the cost of reducing pollution falls
oﬁly on the firms affected by the requirements.
c. there is a tradeoff only if some firms are forced to close.
d. there fs a tradeoff because of reduced incomes to the firms’ owners, workers, and

customers.

3. When government policies are being designed,
a. equity and efficiency goals are usually independent of each other.
b. there is usnally a tradeoff between equity and efficiency.
c. equity can usually be achieved without an efficiency loss.

d. increasing efficiency usually results in more equity.

4. College-age athletes who drop out of school to play professional sports
a. are making a bad economic decision, since they can’t play forever.
b. are unaware of their opportunity cost of attending college.
¢. underestimate the value of a college education.

d.  are well aware that their opportunity cost of attending college is very high.

5. Which of the following is the most accurate statement about economic modeis?
a. Economic models attempt to mirror reality exactly.
b. Economic models are useful, but should not be used for policy-making.
e. Hconomic models cannot be used in the real world because they omit details.
d

Economic models omit many details fo allow us to see what is truly important.

6. One advantage market economies have over central planning is that market economies
a. are more efficient.
b. solve the problem of scarcity.
c. establish govemment economic control.

d. provide an equal distribution of goods and services to consumers.

7. Causes of market failure include
a. externalitics and foreign competition.
b. market power and incorrect forecasts of consumer demand.
c. externalities and market power.

d. incorrect forecasts of consumer demand and foreign competition.
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8.  Productivity is defined as
a. the actual amount of effort workers put into an hour of working time.
b. the number of workers required to produce a given amount of goods and services.
¢. the amount of labor which can be saved by replacing workers with machines.

d. the amount of goods and services produced from each hour of a worker’s time.

9.  Macroeconomics includes the study of topics such as:
a. national output, the national unemployment rate, the rate of inflation, and the trade
deficit.
b. the price of Novell stock, the wage rate of steel workers, and antitrust laws.
c. the expected effect of bad weather in Florida on the price of orange juice.

how prices coordinate the decisions of millions of buyers and sellers in the market.

10. The real economy is more complicated than the one illustrated in a simple circular-flow
diagram because
a. households do not buy all goods and services produced in the economy, and
households do not spend all of their income on goods and services.
b. saving should be counted as part of expenditure.
¢. taxes should be included as part of expenditure.
d. the income government gives poor peopie should be counted as government

production of human capital.

I1. The old adage, “You can’t compare apples and oranges,”
a.  means that GDP must be simply a list of all final products and their quantities.
b. does not apply to GDP because GDP does add together the values of many
different products in order to get a single measure of economic activity.
c. implies that our measure of GDP is erroncous.
d. means that certain agricultural products present particular difficulties in measuring

GDP.

12. A company produces 500 units of an intermediate good on the last day of the year.
a.  Ifit sells the good, GDP for that year will increase.
b. Ifit sells the good, GDP for that year will remain unchanged.
If it does not sell the good, GDP for that year will increase.
bande.

13. If you win $5 million in the state lottery,
a. GDP will be unaffected.
b.  GDP will increase by $5 million.
¢. GDP will increase by less than $5 million.

d.  GDP will increase by more than $5 million.
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14, Which of the following statements about nominal GDP and real GDP is most accurate?

a
b
c.
d

Nominal GDP is a better gauge of economic well-being than is real GDP.

Real GDP s a better gauge of economic well-being than is nominal GDP.

Real GDP and nominal GDP are equally good measures of economic well-being.
Whether real GDP or nominal GDP is a better measure of economic well-being

depends on the business cycle.

15. Which of the following is NOT true about the multilateral approach to free trade?

a. The multilateral approach has the potential to result in freer trade than does the

unilateral approach,

b. The multilateral approach may have a political advantage over the unilateral

approach.

¢. The multilateral approach is simpler than the unilateral approach.
d. NAFTA and GATT are both multilateral approaches to free trade.

16. An important difference between the GDP deflator and the consumer price index is that

a.

the GDP deflator reflects the prices of goods and services bought by producers,
whereas the consumer price index reflects the prices of goods and services bought
by consumers.

the GDP deflator reflects the prices of all goods and services produced
domestically, whereas the consumer price index reflects the prices of goods and
services bought by consumers. :

the GDP deflator reflects the prices of ali goods and services produced by a natien's
resources, whereas the consumer price index reflects the prices of goods and
services bought by consumers.

the GDP deflator refiects the prices of goods and services bought by producers and
consumers, whereas the consumer price index reflects the prices of goods and

services bought by consumers.

17.  Which of the following is a determinant of productivity?

oo g o®

human capital
physical capital
natural resources

All of the above are correct.

18. Technological knowledge refers to

a.

the knowledge and skills that workers acquire through education, training, and

experience.

the stock of equipment and structures that are used to produce goods and services.

the understanding of the best ways to produce goods and services.

All of the above are correct.
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19.  Which of the following is incorrect?
4 Turnover means that firms occasionally fire workers to set an gxample for the other
workers.
b.  Workers are less likely to quit jobs if the firm is paying a high wage.
¢. TFirms may find it profitable to pay wages above the equilibrium level in order to
reduce quits.

d. Paying high wages will create a surplus of workers.

20. Cyclical unemployment is closely associated with
a. short-run ups and downs of the economy.
b. long-term economic growth.

fluctuations in the natural rate of unemployment.

o

d. None of the above are correct.
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3. Draw a set of indifference curves for the following pairs of goods. (10 a)
a. Pork and corn for a vegetarian who neither likes nor dislikes meat.
b. Candy and cookie if these are goods that you like, but if you consume enough of either, you

get sick of them.
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3. Frances Hesselbein & Peter Drucker Foundation for Nonprofit Management IS8 -
E7F 1976-1990 HARSH4F Girl Scouts of the USA [y CEO, B8 M ESE 124/
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s The three major challenges CEOs will face have little to do with managing the
enterprise’s tangible assets and everything to do with menitoring the quality of: leadership,
the workforce, and the relationships....... In the tenuous years that lie ahead, the familiar
benchmatks, guideposts, and milestones will change as rapidly and explosively as the
times, but the one constant at the center of the vortex will be the leader. The leader beyond
the millenniumn will not be the leader who has leamned the lessons of hew to do it. ......
The leader for today and the future will be focused on sow fo be--—how to develop quality,
character, mind-set, values, principles, and courage. ...... The ‘how to be’ leader knows
that people are the organization’s greatest asset and in word, behavior, and relationship she
or he demonstrates this powerful phi]o.sophy. ...... The *how to be’ leader builds a
workforce, board, and staff that reflect the many faces of the community and environment,
so that customers and constituents find themselves when they view this richly diverse
organization of the future. The ‘how to be” leader holds forth the vision of the
organization’s future in compelling ways that ignite the spark needed to build the inclusive
enterprise, The leader mobilizes people around the mission of the organization, making it a
powerful force in the uncertain times ahead. Coordination around the mission generates a
force that transforms the workforce into one in which workers and teams can express
themselves in their work and find significance beyond the task, as they manage for the
mission. Through a consistent focus on mission, the ‘how to be’ leader gives the dispersed
and diverse leaders of the enterprise a clear sense of direction and the opportunity to find
meaning in their work. The ‘how to be’ leader knows that listening to the customer and
learning what he or she values will be a critical component, even more se in the future
than today. Global and local competition will only accelerate, and the need to focus on
what the customer values will grow stronger. ...... Key to the societal significance of
tomorrow’s leaders is the way they embrace the totality of leadership, not just including
my organization but reaching beyond the walls as well. The ‘how to be’ leader, whether
she or he is working in the private, public, or social sector, recognizes the significance of
the lives of the men and women who make up the enterprise, the value of a workplace that
nurtures the people whose performance is essential to furthering the mission, and the
necessity of a healthy community to the success of an organization. The wise leader
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embraces all those concerned in a circle that surrounds the corporation, the organization,
the people, the leadership, and the community. ...... Today’s concerns about a lack of
workers’ loyalty to the corporation and a corresponding lack of corporations” loyalty to the
workforce are sending a clear message to the leaders of tomorrow. ...... In the end, as
organizations reduce their workforces, will it be the leader of a dispirited, demoralized
workforce who leads the pack or will it be the new leader, guiding from vision, principle,
and values, who builds trust and releases the energy and creativity of the workforce? ”

M7 LHEE— AR - FHEIE T EEEERE
a. FERHHEEFTRE how to do itHYFHEEE NI "how to be"RIFHEER (AR ?
(150 7B » 5 43)

b FFERERE( TS how to be HUREF 7 (150 FEAR » 543)

c. {RERBRMSEILSEFAEEE RS R how to do it"HIFRERE RS
F"how to be”FISHEEE 7 (150 FLAKN - 5 43) '

- d. YEFEER « Today’s concerns about a lack of workers’ loyalty to the corporation and a

corresponding lack of corporations’ loyalty to the workforce are sending a clear
message to the leaders of tomorrow. E5FHE{E clear message FfE ?

(15(_)$L;Lr79 v 543)
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1. When society requires that firms reduce pollution,
a. there is no tradeoff, since everyone benefits from reduced pollution.
b. there is no tradeoff for society as a whole, since the cost of reducing pollution falls
- only on the firms affected by the requirements.
c. there is a tradeoff only if some firms are forced to close.
d. there is a tradcoff because of reduced incomes to the firms’ owners, workers, and

customers.

2. College-age athletes who drop out of school to play professional sports
a. are making a bad economic decision, since they can’t play forever.
b. are unaware of their opportunity cost of attending college.
c. underestimate the value of a college education.
d. are well aware that their opportunity cost of attending college is very high.

3. Which of the following is the most accurate statement about economic models?
a. Economic models attempt to mirror reality exactly.
b. Economic models are useful, but should not be used for policy-making.
. Economic medels cannot be used in the real world because they omit details.

d. Economic models omit many details to allow us to see what is truly important.

4. Which of the following is important for policy makers to consider when designing public

policy?

a. the possibility that policies might change behavior
b. the direct effect of policies
¢, the indirect effect of policies

d. all of the above

5. One advantage market economies have over central planning is that market economies
a. are more efficient.
b. solve the problem of scarcity.
c. establish government economic control.

d. provide an equal distribution of goods and services to consumers.

6.  Causes of market failure include
a. externalities and foreign competition.
b. market power and incorrect forecasts of consumer demand.
¢. externalities and market power.

d.  incorrect forecasts of consumer demand and foreign competition.




/

////’

#B: &8FF(A) [2%4(F)EEk] | 2O R 2%

Bad AR+ SEEEE P48 4 F RN

7. Productivity is defined as
a, the actual amount of effort workers put info an hour of working time.
b. the number of workers required to produée a given amount of goods and services,
¢, the amount of labor which can be saved by replacing workers with machines.

d. the amount of goods and services produced from each hour of 2 worker’s time,

8. Macroeconomics includes the study of topics such as:
a.  national output, the national unemployment rate, the rate of inflation, and the trade
deficit.
b,  the price of Novell stock, the wage rate of steel workers, and antitrust laws,
¢, the expected effect of bad weather in Florida on the price of orange juice.

how prices coordinate the decisions of millions of buyers and sellers in the market,

9. The real economy is more complicated than the one illustrated in a simple circular-flow
| diagram because
a.  households do not buy all goods and services produced in the economy, and
liouseholds do not spend all of their income on goods and services,
b. .saving should be counted as part of expenditure.
taxes should be included as part of expenditure.
the income government gives poor people should be counted a5 government

production of human capital.

10.  The old adage, “You can’t compare apples and oranges,”
means that GDP must be simply a list of all final products and their quantities.
does not apply to GDP because GDP does add together the values of many
different products in order to get a single measure of economic activity.
implies that our measure of GDP is erroneous. .
d. . means that certain agricultural products present particular difficulties in measuring
GDP.

11.  The value of an intermediate good will be added to GDP if
the administration needs to show a rapidly growing economy in an election year.
b, the intermediate good is produced and added to a firm’s inventory of goods to be
used or sold at a later date,
c.  the intermediate good is used to produce a final service rather than a final good.
c. None of the above is correct.  The value of an intermediate good is never
included in GDP.
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12, Tf you win $5 million in the state Iottery,
a. GDP will be unaffected.
b.  GDP will increase by $5 million.
GDP will increase by less than $5 million.

o

d. GDP will increase by more than $5 million.

3. Which statement represents most correctly the relationship between nominal GDP and

real GDP? '

a.  Nominal GDP measures base-year production using base-year prices, while real
GDP measures current production using current prices.

b. Nominal GDP measures current production using base-year prices, while real GDP
measures current production using current prices.

¢. Nominal GDP measures current production using current prices, while real GDP
measures base-year production using base-year prices.

d. Nominal GDP measures current production using current prices, while real GDP

measures current production using base-year prices.

14. Which of the following is NOT true about the multilateral approach to free trade?
a, The multilateral approach has the potential to result in freer trade than does the
unilateral approach.
b. The multilateral approach may have a political advantage over the unilateral
approach.
¢. The multilateral approach is simpler than the unilateral approach.
d. NAFTA and GATT are both multifateral approaches to free trade.

15.  Which of the following is not a widely-acknowledged problem with the CPI as a
measure of the cost of living?
a. substitution bias
b. i;ltroduction of new goods
c. unmeasured quality change
d. unmeasured price change

e. All of the above are problems with the CPL

I6. Animportant difference between the GDP deflator and the consumer price index is that
a. the GDP deflator reflects the prices of goods and services bought by producers,
whereas the consumer price index reflects the prices of goods and services bought
by consumers.
b.  the GDP deflator reflects the prices of all goods and services produced
domestically, whereas the consumer price index reflects the prices of goods and

services bought by consumers.
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¢.  the GDP deflator reflects the prices of all goods and services produced by a
nation's resources, whereas the consumer price index reflects the prices of goods
and services bought by consumers.

d.  the GDP deflator reflects the prices of goods and services bought by producers and
consumers, whereas the consumer price index reflects the prices of goods and

services bought by consumers.

17, Which of the following is a determinant of productivity?
a,  human capital
b.  physical capital
c.  natural resources

d.  All of the above are correct,

18.  Technological knowledge refers to
a.  the knowledge and skills that workers acquire through education, training, and
experience.
b.  the stock of equipment and structures that are used to produce goods and services.
the understanding of the best ways to produce goods and services.

d.  All of the above are correct.

19. Which of the following is incorrect?
a. Turnover means that firms occasionally fire workers to set an example for the other
workers.
b.  Workers are less likely to quit jobs if the firm is paying a high wage. )
. Firms may find it profitable to pay wages above the equilibrium level in order to
reduce quits.

d.  Paying high wages will create a surplus of workers.

20.  Cyclical unemployment is closely associated with
a.  short-run ups and downs of the economy.
b.  long-term economic growth.
fluctuations in the natural rate of unemployment.

d.  None of the above are correct.
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3. Draw a set of indifference curves for the following paits of goods. QLA D]

a. Fish and chips for an individual that will not cat fish or chips, but loves to eat the mix of
one part fish and two parts chips. '

b. Apple and orange for an individual that believes that apple and orange are perfect

substitutes.
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3. Frances Hesselbein 5 Peter Drucker Foundation for Nonprofit Management BY#E%E > 2
B7E 1976-1990 HAFEHE Girl Scouts of the USA [ CEO, EEE RSB
1 National Women’s Economic Alliance FiERZ8Y L RAEASEE - MiFE"The ‘How to
be’ Leader” 3 P EIE !

s The three major challenges CEOs will face have little to do with managing the
enterprise’s tangible assets and everything to do with monitoring the quality of:
leadership, the workforce, and the relationships....... In the tenuous years that lie ahead,
the familiar benchmarks, guideposts, and milestones will change as rapidly and ,
explosively as the times, but the one constant at the center of the vortex will be the leader.
The leader beyond the millennium will not be the leader who has learned the lessons of
howtodoit. ... The leader for today and the future will be focused on how fo
be--—-how to develop quality, charactet, mind-set, values, principles, and
courage. ...... The ‘how to be’ leader knows that people are the organization’s greatest
asset and in word, behavior, and relationship she or he demonstrates this powerful
philosophy. ...... The “how to be’ leader builds a workforce, board, and staff that reflect
the many faces of the community and envirenment, so that customers and constituents
find themselves when they view this richly diverse organization of the future. The ‘how
to be’ leader holds forth the vision of the organization’s future in compelling ways that
ignite the spark needed to build the inclusive enterprise. The leader mobilizes people

. around the mission of the organization, making it a powerful force in the uncertain times
ahead. Coordination around the mission generates a force that transforms the workforce
into one in which workers and teams can express themselves in their work and find
significance beyond the task, as they manage for the mission. Through a consistent focus
on mission, the ‘how to be’ leader gives the dispersed and diverse leaders of the
enterprise a clear sense of direction and the opportunity to find meaning in their work.
The ‘how to be’ leader knows that listening to the customer and learning what he or she
values will be a critical component, even more so in the future than today. Global and
local competition will only accelerate, and the need to focus on what the customer values
will grow stronger. ...... Key to the societal significance of tomorrow’s leaders is the way
they embrace the totality of leadership, not just including my organization but reaching
beyond the walls as well. The ‘how to be’ leader, whether she or he is working in the
private, public, or social sector, recognizes the significance of the lives of the men and
women who make up the enterprise, the value of a workplace that nurtures the people
whose performance is essential to furthering the mission, and the necessity of a healthy
community to the success of an organization. The wise leader embraces all those
concerned in a circle that surrounds the corporation, the organization, the people, the
leadership, and the community. ...... Today’s concerns about a lack of workers’ loyalty to
the corporation and a corresponding lack of corporations’ loyalty to the workforce are
sending a clear message to the leaders of tomorrow. ...... In the end, as organizations
reduce their workforces, will it be the Jeader of a dispirited, demoralized workforce who
leads the pack or will it be the new leader, guiding from vision, principle, and values,
wheo builds trust and releases the energy and creativity of the workforce? ”
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4. {E#3R * Today’s concerns about a lack of workers’ loyalty to the corporation and a
corresponding lack of corporations’ loyalty to the workforce are sending a clear
message to the leaders of tomorrow. SHRIIE{H clear message F{FAFE ?
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I. True/False/Uncertain: State whether you believe each of the following
statements is true, false or uncertain. Most importantly, justify your answer
using economic reasoning and (when approptiate) diagrams. (&/NE1051)

1. A fixed business licensee fee imposed on each monopolistically competitive
firm will reduce the number of brands in the market and increase each one's
market share.

2.1f a firm has a cost function given by C(Q) = 100 + Q*, then it is a natural
monopoly.

3. Perfect price discrimination is impossible when all consumers have identical
tastes and preferencas.

~ A.The imposition of a tariff will raise the wages of workers who produce the -
protected good.

5. [f the inflation rate fell from 3% in 1998 to 2% in 1999, this means that prices -
were, on average, lower in 1999 than in 1998.

IL. Please answer the following guestions:

1. As to (a) the basis, (b) the type and (¢) the benefit of the international trading,
please compare the Ricardo model with the Heckscher-Ohlin model, and
explain their differences with a certain case. (AHE-T4+)

2. Let’s discuss the protectionism of international trade.
(a) What are the major reasons for the protectionism?
(b) What are the standards for a country to choose the “infant-industry”?
(c) What is the best policy-tool for the protectionism?
{(d) What are the main pressures for many countries to set up the trade
barriers, since the free trade can promote the national welfare for the

trading partners? (Z<EH -4

3, Please explain the terms with your own comments:
(a) Dollarization; '
{b) Capital flight;
(c) Real exchange rate;

(d) Real depreciation. (FB A7)
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1. The technique in which group members respond in writing to questions posed by
the group leader is known ag the technique.
A. Delta
B. Beta
C. Delphi
D. Alpha

2. Performance gains that result when individuals coordinate their action is called:

>

coordinated strategy
focused diversification
synergy

entropy

Couw

3. strategy distinguishes an organization's products from its competitors
products in areas such as quality and design.
A. Low-cost
B. Multidomestic
C. Differentiation
D. Diversification

4. Which is not an integrating mechanism?
A. Liaison roles
B. Task forces .
C. Cross-functional teams
D. Market structure

i

5. The structure is an organizational structure that simultaneously groups
people and resources by function and product.
A. market
B. geographic
C. matrix
D. product

6. Controlling is a four-step process; which is not one of the steps?
A._ - Establishing performance standards
B. Measuring competitor's performance
C. Comparing actual performance against performance standards
D. Evaluating the results and taking corrective action
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7. is the process managers engage in to develop a pool of qualified
candidates for open positions.
A. Hiring
B. Recruitment
C. Retention
D. Selection

8. The need for provides an individual with a strong desire to perform
challenging tasks well and met personal standards of excellence.
A achievement
B. affiliation
C. power
D. integration

9. Based on expectancy theory, is a perception about the extent to which
performance will result in the attainment of outcomes.
A. effort
expectancy
valence

vow

instrumentality

10. The authority a manager has by virtue of his or her position in an organization is
referred to as power,
A. legitimate '
B. reward
C. coercive
D, expert

11. Nonverbal communication includes the encoding of messages by means of’
A. body language .
B. facial expressions
C. styles of dress
D. all of the above

12. Inthe inventory system, supplies arrive to the organization when they are
needed.
A. Just-in-case
B. TQM
C. Just-in-time
D. Kaizen

13. Promoting from within
A. assures the absence of morale problems.
B. is generally less costly. .
C. allows for the injection of new blood.
D. all of the above.
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14. Maslow is probably best known for his theory on
A. levels of aspirations.
B. levels of achievements.
C. levels of needs.
D, levels of directions.

15. Very little delegation of authority is associated with the
A. marketing .
B. personnel
C. purchasing
D. accounting

16. Which of these is not a Mintzberg category of roles for managers?

A, Interpersonal role
B. Informational role
C. Motivational role

D. Decisional role

17. is the outcome of planning,
Performance

Strategy

Assessment

Effective organization

Sows

18. A reporting relationship in which an employee receives orders from, and reports

to, only one supervisor is known as:
A. line of authority.
B. centralization.
C. unity of direction.
D. unity of command.

19. Inequity that exists when a person perceives that his or her own outcome/input

ratio is greater than the ratio of a referent is known as:
A. underpayment inequity.

overpayment inequity.

negative perception inequity.

procedural inequity.

Caow

20. Theory is based on positive assumptions about workers.

>

Z

uUgnw
LS
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21. The theory states that a manager's choice of organizational structures and
control systems depends on characteristics of the external environment.
A. mechanistic '
B. management science
C. organic
D. contingency
22. Which is not one of Fayol's principles:
A. Authority and responsibility
B. Line of authority

C. Globalization
D. Unity of command

23. Which is not a stage of an industry life cycle?
A. Growth ’
B. Seniority
C. Shakeout
D. Bith

24, allows a foreign organization to take charge of mamufacturing and
distributing a product in its country in return for a negotiated fee. -
A Franchising
B. A joint venture
C. Licensing
D. A subsidiary

25 Which of the following is not usually an organizational stakeholder?
A. Customers
B. Suppliers
C. Employees
D., Government
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